
Stéphane	Cerveau

Suite	pour	orchestre	à	cordes
"En	Voyage"

N°1:	Sur	le	fleuve	Congo
Niveau:		Cycle	1
Durée:	2	mn	20
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Stéphane	Cerveau

N°2:	Une	fête	roumaineNiveau:	Cycle	1
Durée:	50	s
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Stéphane	Cerveau

N°	3:	Le	Mont	Fuji
Niveau:	Cycle	1
Durée:	1mn	45

12

Cb.

Contrebasse

Vlc	2

Violoncelle	2

Vlc	1

Violoncelle	1

Vln.	2

Violon	2

Vln.	1

Violon	1

















    
 

      

   

 































































	=	130

pizz.

pizz.

pizz.

arco





















7 ES3310



Stéphane	Cerveau

N°	4:	Nuit	orientaleNiveau:	Cycle	1
Durée:	3	mn	5
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Stéphane	Cerveau

N°5:	Valse	à	l'espagnole
Niveau:	Cycle	1
Durée:	1	mn	50
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Stéphane	Cerveau

N°	6:	Winnipeg's	RagNiveau:	Cycle	1
Durée:	2	mn	15
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